Honda Big Red Half Windshield with

Quick Connect Clamps
P/N 10350

Includes:

RO

(1) Half windshield p/n 10350-01 (12/01/08)

(4) center brackets p/n 10332-02

(2) Quick Connect Clamps 1-5/8 Tube p/n 10338
(4) 1/4-20 Nylon nuts for Quick Clamps

(2) M6-16 mm min bolts for center brackets

(4) 1/4-20 Thumbscrews

Installation:

1.

Remove stock M6 screws from under the
hood and attach center brackets using M6
screws supplied (fig 3).

Using thumbscrews, quick connect clamps,
and 1/4” nuts attach to top quick connect

clamps. Note: put the 1/4” nuts on last.
WWW.EXTREMEMETALPRODUCTS.COM

Honda Big Red Half Windshield with

Quick Connect Clamps
P/N 10350

Includes:

(1) Half windshield p/n 10350-01 (12/01/08)

(4) center brackets p/n 10332-02

(2) Quick Connect Clamps 1-5/8 Tube p/n 10338
(4) 1/4-20 Nylon nuts for Quick Clamps

(2) M6-16 mm min bolts for center brackets

(4) 1/4-20 Thumbscrews

Installation:

1.

Remove stock M6 screws from under the
hood and attach center brackets using M6
screws supplied (fig 3).

Using thumbscrews, quick connect clamps,
and 1/4” nuts attach to top quick connect

clamps. Note: put the 1/4” nuts on last.
WWW.EXTREMEMETALPRODUCTS.COM

Honda Big Red Half Windshield with

Quick Connect Clamps
P/N 10350

Includes:

1
2
1.
2.
3
4

(1) Half windshield p/n 10350-01 (12/01/08)

(4) center brackets p/n 10332-02

(2) Quick Connect Clamps 1-5/8 Tube p/n 10338
(4) 1/4-20 Nylon nuts for Quick Clamps

(2) M6-16 mm min bolts for center brackets

(4) 1/4-20 Thumbscrews

Installation:

1.

Remove stock M6 screws from under the
hood and attach center brackets using M6
screws supplied (fig 3).

Using thumbscrews, quick connect clamps,
and 1/4” nuts attach to top quick connect

clamps. Note: put the 1/4” nuts on last.
WWW.EXTREMEMETALPRODUCTS.COM

Honda Big Red Half Windshield with

Quick Connect Clamps
P/N 10350
Includes:
1. (1) Half windshield p/n 10350-01 (12/01/08)
2. (4) center brackets p/n 10332-02
1. (2) Quick Connect Clamps 1-5/8 Tube p/n 10338
2. (4) 1/4-20 Nylon nuts for Quick Clamps
3. (2) M6-16 mm min bolts for center brackets
4. (4) 1/4-20 Thumbscrews
Installation:
1. Remove stock M6 screws from under the

hood and attach center brackets using M6
screws supplied (fig 3).

Using thumbscrews, quick connect clamps,
and 1/4” nuts attach to top quick connect

clamps. Note: put the 1/4” nuts on last.
WWW.EXTREMEMETALPRODUCTS.COM




